Reasoning

Dexter makes a tally chart of the
animals he saw at the zoo

Class 1 and Class 2 were each asked
their favourite ice-cream flavours. Their

Animal Tally results are shown in the tally charts.
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Answers

The same:
Both classes have
20 votes for

Class 1 and Class 2 were each asked
their favourite ice-cream flavours. Their
results are shown in the tally charts.

Dexter makes a tally chart of the Box 1is incorrect

animals he saw at the zoo because there are

Animal Tally not enough chocolate. Both tally
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